


m Slope-intercept form

y=mx+Db
m is the slope
(0,b) is the y-int

to find the x-int (x,0)
substitute O for y
and solve for x

to graph plot either
of the intercepts
(avoid fractions or
decimals) and use
the slope to locate
more points
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On your whiteboard...

©)

3
y=mx+b y=5x+1
m is the slope Slope: >
M= 2
(0,b) is the y-int @
. to find the x-int (x,0) y-intercept:
substitute 0 for y
and solve for x O [ l
to graph plot either x-intercept: 3 |
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(avoid fractions or — —|
decimal d use 2
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On your whiteboard...
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y = "3X + 2
Slope: (m=-1 _-«Ijall or ri1se
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m Standard form

more points

-5 =6 C:5
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On your whiteboard...

4x -3y =12
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el [-IE M Other forms

Rewrite the equation of the line in either slope-intercept form or
standard form first. Then find the slope, both intercepts, and graph.
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On your whiteboard...

3(y+1)+1=2x+4
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e JEX W Verticalyand HorizontakLines
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On your whiteboard...
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